
 

 

 

 

 

 

 

 

 طريقة السمبلكس

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 م أساسية S2 S1 X2 X1 الثابت

0 * * -01 -5 Z 

26 * * 1 2 S1 

56 * * 4 2 S2 



 

 

 

  CPMطريقة المسار الحرج 
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 PERTطريقة بيرت 

 

    التقــديــــــر  

 رمز النشاط
 

 (S)تفاؤل 

 

 

أكثر احتمالاً 

(M) 

 

 (L)تشاؤم 

 التباين المتوقع

A* 1 4 7   

B 8 8 8   

C* 4 4 11   

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 تحليل القرارات 

 

 ركود اقتصادي نمو اقتصادي 

 -00 100 مصنع كبير

 -10 00 مصنع صغير

 0 0 عدم البناء

 


